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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q1 farefafee # & @i @ ag A do # Farfee g 7 2 Question ID : 9864493251

Which of the following metals is stored in kerosene o0il? Status : Answered
Ans Iﬂ?-IT Chosen Option : 3

Q.2 AT e v R 1 3ek Bt F & 5l v afeafa fear e & A9 &

frt & @ T A e ——— Question ID : 9864493681

Status : Answered

. Raks

The below figure is embedded in one of the answer figures. Choose the correct figure
containing the below figure.
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Question ID : 9864492952
Status : Answered



a1 TS, Tk @1 FH Fd U wAe T mﬂM&gQ@vntLQQ—ﬁale rt I rEhosen Option : 3
=l g

%mﬁm#ﬂﬂfrméﬁaﬁaﬁ%ﬁmﬁrwmhméﬁﬁ
off @ welr A TSt @ v W e g S o off g e #
TraaT THT wEEm?

Two pipes, when working one at a time, can fill a cistern in 3 hours and 4 hours,
respectively while a third pipe can drain the cistern empty in 8 hours. All the three pipes

were opened together when the cistern was i full. How long did it take for the cistern to
be completely full?

Ans x1_2u’i101ﬁﬂz

2 hour 10 minutes
,2ue
2 hours
, 1 ®er 45 fee
1 hour 45 minutes

4.2a%11ﬁ::|z

2 hour 11 minutes

v

x

x

Q.4 20.0 cm T IFAT & 32T aTer T JHade gUUT HT BiHE glr gl

The focal length of a concave mirror with a radius of curvature of 20.0 cm is:

Ans X' 1.5 cm
K 215cm
v 310 cm
& 420 cm

Question ID : 9864493063
Status : Answered
Chosen Option : 2

Q.5 5 m/s i AT & AT 22 kg T dTel T&F FT AT 3 o= 2
An object with a mass of 22 kg moving with a velocity of 5 m/s possesses a kinetic energy

Ans 1275 J
< 22750 J
31100 J
<4110 J

Question ID : 9864493480
Status : Answered
Chosen Option : 4

Q.6 If 317 v eoT H 2w # At o # T ofy (o mrEee) s e &, arader
ESR-Corg-s

If you look into a mirror and find that the image (your reflexion) is smaller than you, then
the type of the mirror is:

X, FET Z9ur
concave mirror
v Foael Ut
convex mirror
| WEE-3eare guuT
plano-concave mirror

4.1':I'FIF|?~IE'5I"JT

plane mirror

Ans

x

x

Question ID : 9864493364
Status : Answered
Chosen Option :1

Q.7 ‘FIfawg # afarar s o iR # G5 & &= g a=da & gl
TERRT AT T AT v T R @ &

The ‘Kathopanishad’ captures the conversation between a young boy named Nachiketas
and a god. Which of the following gods is talking to Nachiketas?

Ans v T TH
1.
Lord Yama

Question ID : 9864492127
Status : Answered
Chosen Option : 2




, S £
Lord Indra
STITETT Fiiahd
Lord Karthikeya

x 4 FTE IEIC]
Lord Shiva

x

< 3.
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Q.8

Ans

TF Ied T -G T 75° & FI0T L IH g T A ew S dEw s e ag
Tz § o Tt B gre < 3 st 3 sifam Rigat ox dter s,
ot ST T T il

To draw a pair of tangents to a circle which are inclined to each other at an angle of 75°,
it is required to draw tangents at the end points of those two radii of the circle, the angle
between whom is

W 1.105°
X 2 65°
X 3. 950
X 4. 750

Question ID : 9864492518
Status : Not Answered
Chosen Option : --

Q.9

Ans

Tk hEera hT TToRTY Foviieh Sgesn ATl 21 87
The resistance of a conductor is inversely proportional to its:

3TIEL ST =hT &7l
v S

area of cross section
length
RlIEEIG)
3.
temperature

gfatrerssar

resistivity

X2

r 8

Question ID : 9864493546
Status : Answered
Chosen Option : 1

Q.10

e W F HH AT AR F 3619 e I 2| R wa Ak e F gt
FFAT 8 : 11 §, 7 T 3 oo 3 forrer ity aremy smdr 2
There are saplings of 361 Mango tree and Neem tree in a garden. The ratio of the number

of Mango tree to that of Neem tree saplings is 8 : 11, then how many Neem tree saplings
are in the garden?

Question ID : 9864492545
Status : Answered
Chosen Option : 2

Ans x1_57
v 2 209
< 3152
X 4171
Q11 7fE 3 + ax + 4, x- 5 AN YOI =T & & & F A T 87

If3x* + ax + 4 is perfectly divisible by x — 5, then the value of a is:

Ans x1_ -5
v2.-158
<3 -156
K4 -12

Question ID
Status

Chosen Option :

19864492957
:Not Answered

Question ID
Status
Chosen Option

19864493866
:Answered
12




gieet® X (Problem figure) M%ngoaglsalertlln

Problem Figure

Answer Figures

B

A B C D

Choose the correct water image of the problem figure.
Problem Figure

Answer Figures

N

A
Ans X1D
v2C
X 3B
X4 A

Q13 oregiREe & FowuT & T ff@a & @ &ar 393w ¢ ¢
‘Which of the following is essential for the synthesis of thyroxin?

Ans X1_t|’|ifénﬂ

Potassium

Question ID : 9864493316
Status : Answered
Chosen Option : 4

Q.14

Question ID : 9864494000
Status : Answered
Chosen Option : 3




Ans

jan feb mar apr may jun

jan- S feb- T mar- AR apr- A

may- #S jun- Sl

T a1v aife Ater-wEfee A g miEE % 2017 F qwendr 6 AW F
AET X F ge Tl S FEw (Fent #) s

I WE H TEer wear Ae-antra f ¥ v gEh dww g vt $r 3

T 7T iwE F 3T W, I T w739 2017 F Ehw, Aer-mae &
3YoATaT AT IRt & IR B wear T =2

jan feb mar apr may jun

The given data shows the registration of bikes and total vehicles (in thousands) for 6
months in 2017 in City X.

Note: In the chart, the first number represents bikes and the second number represents
total vehicles.

Based on the given data, from January to April 2017, the increase in the registration of
vehicles other than bikes is .

+ 19000
X 28500
X 39050
X 48000
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Q15 rewdy AR F JTeT TgT a2F FieT /T AT?

Ans

Which was the first country to introduce GST in its system?

Ko e

Germany

X2 ; ;
Australia
heAsT
Canada
v P

France

< 3

Question ID : 9864492218
Status : Answered
Chosen Option :1

Q.16 wep =FET 25 STl T FANISAT T AT 150 cm 31T 38 a1 # 35 Asfeat fr et

AT 145 cm 1 a1 & Tefr 60 Rrgztaia & Sargar o Hgad Are s
(EmE kv

The mean height of 25 boys in a class is 150cm, and the mean height of 35 girls in the
same class is 145 cm. The combined mean height of 60 students in the class is

(approximately)

Question ID : 9864492637
Status : Answered
Chosen Option : 1
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< 2.145
X 3146
X 4143

Q.17 Tafafad 7 & Bue Tl §aae & & Ageaqut st H1 FreT &6
TrETafee R $ i e

‘Who among the following laid the foundation of chemical sciences by establishing two )
important laws of chemical combination? Chosen Option : 3

Question ID : 9864493207
Status : Answered

Ans x 1 HeATE TEIHIE

Emest Rutherford

A

Democritus

75 TSI U AT
Antoine L. Lavoisier

x4 FEE T GIEEE
Joseph L. Proust

< 2

Q18 zu-rh & v Tsor F Z osmT gw 1 Faor Fr g A 21 A Ry

' ; tion ID : 9864492786
A 4 ohex T i e Rar e & R & g @ aioes Faw w© Question
S Status : Answered

Chosen Option : 3

g of a milk-water mixture was milk. There was 21 litres of the mixture. If 4 litres of water

is added to it, the percentage of milk in the new mixture will be:

Ans X 1. 44
X211
'3 56
X 414

Q.19 HiF @1 3T =T (Answer figure) BT 71T 997 = (problem figure) 1 TET
. Question ID : 9864493962
ST SiatET &7

Status : Answered

Chosen Option : 4
Problem Figure

Answer Figures

e Tl

‘Which of the Answer Figures is the correct water image for the given Problem figure?

Problem Figure

Answer Figures

Ans X1B
X 2D
X3 A



vicC
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Q.20 5y & =18 arfeem A Faw 10, sgeawmer A 3 B & FemEfd sk e odww

#F AT A A oEr HT GEAT F REr ¥
FPET A H T w1 SO (T qREed Ui o) hdar 82

gRumH FTHET | IHET B
A
et glemst F e | 28 23
#er arer Rt
F FT T
Aoty ofeT & 14 12
T AT T
e F o
Facanfaat &1 g
Bor))
Aeamafe afreT A 6 17
9T A HAS
ofteT & Ser
Reafiat #r z=
T

2t aftemst F aw | 64 55
et arer freanfart

F Fo wE=T

The following table gives the details of the number of students in Class 10 section A and
B who had taken mid-term and final exam.

The percentage of students in section A is (round to one decimal).
Result Sec A Sec B
Total number of 28 23
students who failed in
both exams
Total number of 14 12
students who failed in
mid-term but passed in
finals
Total number of 6 17

students who passed in
mid-term but failed in
finals

Total number of 64 55
students who passed in
both the exams

Question ID : 9864493819
Status : Answered
Chosen Option : 3

ans X 1. B
v 2511
<3512
<4513
Q.21 7% W wamEeE w1 A o # F sud A e sl W agEe

Ans

fafga &

o
IH AT F9=0 BEST & 39t 3w & 10% wetady = &1 Shaern faar 21

e HTT:

1.-‘.1:1'=fr BEST &® a1 et & FF BT areht 3w =9t &1 e 37 @t
gl

2. T qfE & wrg o s@ WO H wEa gger S & 5= @ W B

Consider the argument and decide which of the given assumptions is/are implicit.

Argument:
The BEST bus travels company has decided to increase its fare by 10%.

Assumptions:
1. Passengers may opt for other buses costing less than the BEST bus travels company.
2. The demand for the buses by passengers may remain unchanged even after the fare
hike.

x1_;ra’r13ﬂ1;r€r2ﬁr%?r%

Neither 1 nor 2 is implicit

Question ID : 9864493720
Status : Answered
Chosen Option : 3




T HTAA 1 ﬁ‘i%?-rwng '
2
Only assumption 1 is implicit

1 3R 2 3 e §

Both 1 and 2 are implicit
Faa A 2 Ak @
4.

Only assumption 2 is implicit

x

v

x

govtjobsalert.in

Q.22 afewad @ Fiead YA 9 AI9AT & dgas & (AU, 9w Fe & & F=1r
FTAT g

To convert temperature from Celsius to Kelvin scale, you must:

Ans 1ﬁammﬁz?33’|:%

v
add 273 to the given temperature

X2
fow 1T araaEET & 273 o Fafea &y

divide the given temperature by 273
few 1w qroEE # & 273 "ew

X3
subtract 273 from the given temperature

few aw ArgEE @ 273 F T H
4.
multiply the given temperature by 273

x

Question ID : 9864493328
Status : Answered
Chosen Option : 3

Q.23 7 A, B3 CSaER o THEE & w9 § wattyd § | Ay AF WAy
FEAAT 73R C# 39 B, aF BH WA FEIAW fahoaT g m 2

Elements A, B and C occur as Dobereiner’s triads. If the atomic mass of A is 7 and that of
C is 39, what will be the atomic mass of B?

Ans o 1. 20
X 223
X 340
X412

Question ID : 9864493394
Status : Not Answered
Chosen Option : --

O gz F HgT # gER TS
A battlefield always has:

Ans
v o
Arrows

#fa=w

Soldiers

HE

| Elephants
Tor

Chariots

<2

X3

K4

Question ID : 9864493824
Status : Answered
Chosen Option :2

Q.25 3 U 9T FJaT 1 H M’ ZERT, #a7 2 & 'N' GENT ager faar sar § 3
T OE T A A, A @ wAT 21:00 g E, O g T W
gt

If the number 1 on the clock is replaced by the letter ‘M’, the number 2 is replaced by ‘N’
and so on, then when the time is 21:00 p.m. the hour hand will be at letter.

Ans x1_T

Question ID : 9864493880
Status : Answered
Chosen Option : 4




X228
X3V
vau
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Q26 2016 # 3Neife @ Fi & MR H HAST gT a2
The 2016 Olympics was held in which city?

Question ID : 9864492209
Status : Answered
Chosen Option :1

v, et @ Pt
Rio de Janeiro
AT &dr
<2
Mexico City
IR
Paris
X4 e
London

< 3.

Q27 far a7 fapedl # ¥ HEr FATT SAIET & =8 Hi

Te$ : gl

Choose the correct analogous word pair from the given alternatives.

Carpenter : Hammer

Ans .
X1 FT ; fae=T
Crane : Builder
, Add - YiAr
. Plumber : Wrench
FoIeT : ATH
X3 "
Computer : Writer

Fogls | AFSERT
4
Axe : Logger

x

Question ID : 9864493804
Status : Answered
Chosen Option : 4

Q.28 & = =fy & BT 7w 9 Reet § Bl v & oieafia ¥ g % e
TR TR et da el g gg &

2

BN

A B C
The following figure is embedded in one of the four answer figures. Which figure contains
the problem figure?

2

BRI

A B

Ans X1A
X2C
v B

Question ID : 9864493823
Status : Answered
Chosen Option : 3
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Q.29 g wfe= & offe &1 3 Pfa quw gaar & v e &A= 2017

Ans

&G I T

Which eminent Hindi writer was chosen for the Vyas Samman 2017 for her work

‘Dukham Sukham’?

xLaﬁmfﬁmﬁr

Meena Kandasamy

X2 I
Jhumpa Lahiri

Question ID : 9864492393
Status : Answered
Chosen Option : 3

30 ey & E Tt F ¥ ST @ oy

Ans

wE w6l 87

Which of the numbers given below is NOT rational?

X 1364
v 2.8
X33
X 4 64

Question ID : 9864492904
Status : Answered
Chosen Option : 2

Q.31 ey aa0far #1439 F T 7.5% i & W TR0 540 W e
o o) Afy @aer 5 9 F v g@ar ar 3fST s 7375 Afge gan e

¥ frder &7 18 TR el o2

A sum of money was invested at the rate of 7.5% simple interest per annum for 4 years. If
the investment was for 5 years, the interest earned would have been ¥ 375 more. What

was the initial sum invested?

Question ID : 9864492847
Status : Answered
Chosen Option : 4

Ans X 1.3 4,500
2 5,000
< 334,750
< 43,750
Q.32

Question ID : 9864494093
Status : Answered
Chosen Option : 2




Ty Af¥ag w9 @ Rerar =1 geRar 2

YA

| W § R SR # S g oe e S avenw §) sEfew &
FT A U a9 § ar v dew AT &

forsy:

1. TIFT F TAT H FTETEFHAT Y27 AT ART 7 T 1 T S
arelr T &1 AT & F HE
2. w0 & g FX g TR AR T oS S g TH

Consider the given statements as true and decide which of the given conclusions can
definitely be drawn from the given statements.

Statements:

People think that paying tax to the government is a burden and waste. Hence, they avoid
paying tax or don’t pay tax promptly.

Conclusions:
1. Government should create awareness among the people that paying tax helps to
build nation.
2. Tax should be increased so that more money is collected.

Ans x1ﬁ-TEF‘§I’1 AT 2 EAAT HFTEIT A &

Both 1 and 2 follow.
foF e 1 37780 HLar g

Only conclusion 1 follows.

< 3.
1 a ey 1 3R a1 & ey 2 e = E

Neither 1 nor 2 follows.

o e 2 3780 & ¢l

Only conclusion 2 follows.

W2

< 4

OB Fa F AT FEgES & ar FERET 92
Which Indian Chief Minister’s father was a ‘Maharaja’?

Ans K . W Hm%
Chandrababu Naidu

X2 gag FEAaH

Devandra Fadnavis

&. g T

K Chandrasekhar Rao

3AfET fE

Amarinder Singh

X3

v 2

Question ID : 9864492287
Status : Answered
Chosen Option :2

Q.34 T Ty 7 @ TaEr & &9ha 20 m?, 32 m? 340 m? §1 T T maae
o 12

The surface areas of three faces of a cuboid sharing a vertex are 20 m?, 32 m? and 40 m?.
‘What is the volume of the cuboid?

Ans

Question ID : 9864492854
Status : Answered
Chosen Option : 3




] 184 m?

184 m?
92 m?

92 m?

V3024 m?
V3024 m?

. 160 m?®
160 m?®

x

<2

K 3.

v
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Q3% arqu 3l F W@ ATATRAT G@RT IeqT A E-

Metals reacts with acids to give:

Ans 1‘F~|E'UT3T'ITE'I$'§"I?IFI'

v
A salt and Hydrogen
x , a0 AT &R
A salt and base
x5, a0 HIT g=T
A salt and water
x ;. AT AR FANIT
A salt and Chlorine

Question ID : 9864493272
Status : Answered
Chosen Option : 1

0% & TE BN ST H LU T TN

BGL, DIN, , HMR

Find the missing term in the letter series.

BGL, DIN,
ans X 1. GLQ
X 2 FPK
v 5 FKP
X 4 EJO

HMR

Question ID : 9864493721
Status : Answered
Chosen Option :1

Q.37 goil{iet St &1 39T e # @ hEes AT & R ST &
Chlorine gas is used in the manufacture of:

Ans v Self=reT 9T3ET
Bleaching powder
X2 2?1%’ =
Washing soda
| afer B
Baking soda
, T T
Baking powder

x

x

Question ID : 9864493590
Status : Answered
Chosen Option : 3




Q.38 mﬁ ﬁ. ﬁ. Eﬁlna. T W%ﬁ%lgo b al € rt An Question ID : 9864492442

Which of the following is a reducible fraction?

Ans “1- E

112

x22

15

Xz

17

Xz

26

Status : Not Answered
Chosen Option : --

P gfEa+b+ec = 0,ar(a®+ b+ )2 =2

Ifa+b+c = 0,then(a’+ b’ +c%)? =

Ans x 1. 3a2h%c?
X 2. 9abe
X 3. 27abe
W 4 9g2p2c2

Question ID : 9864492584
Status : Answered
Chosen Option : 3

Q40 FfE cot*9 + cot?0 = 3 B Al cosec*d - cosec?d =?

If cot*® + cot?6 = 3. then cosec*8 - cosec?8 =?

Ans x11
X20
X 3.2
v3

Question ID : 9864492897
Status : Answered
Chosen Option : 3

Q41 37 wEr fawed & gt A TeATaf@d @ T QU FLEm:

ACT, EGG, INK,

Choose the correct alternative which will complete the series.

ACT. EGG. INK.

ans X 1 BYE
X2 DIP
X 3 FUN
v+ OLD

Question ID : 9864493671
Status : Answered
Chosen Option : 4

Q.42 ﬁm gol EFE—

— {45 — (—96) + (—32)} =2

Solve the following:

—~{—45— (=96) + (—32)} =7

Ans 1. 10.5
< 2.10.5
X312
v 12

Question ID : 9864492799
Status : Not Answered
Chosen Option : --

Q.43

Question ID : 9864492973




&r A T = - Tor fwEEn A gF w 9Ee g, S A F AR @

Status : Not Answered
Chosen Option : --

a1g A gl Fh T Y ag #
Three-fifths of my current age is the same as five-sixths of that of one of my cousins’. My
age ten years ago will be his age four years hence. My current age is years.
Ans x 1. 60
X 245
V'3 50
X 4. 55
Q44 sy 3 & frer ¥ wafdm &, 39w ¥ gEfoa )

‘Food” is related to ‘Refrigerator” in the same way as ‘Clothes” is related to

Ans m;rmvj’r

Material

HeTANY

Closet

IR

| Garage
I

X4
Fold

2

X3

Question ID : 9864494164
Status : Answered
Chosen Option : 2

Q.45 2 kg F T GETHI AT T I A AL 20 m/s F THINF T H GRS g 2
Uehs T 3THT T Fall Tehedall 819117 (2= 10 m/s2)

A body of mass 2 kg is thrown upward with initial velocity of 20 m/s. After 2 seconds. its
kinetic energy will be: (g= 10 m/s?)

Ans 12007

Question ID : 9864493142
Status : Not Answered
Chosen Option : --

K 24007
vs07J
X 41007

046 gy s 2 et gt 82

Question ID : 9864493860
Status : Answered
Chosen Option : 2

How many triangles are present in the following figure?

Ans x1_ 12
<215
V'3 14




<413
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Q.47 7750 1 TfaE Tl T 3 AES F == 18 F wfy % @umer e & ST

Ans

T 37

T 750 invested for 3 months gave an interest of T 18. What was the simple rate of interest
per annum?

v 1 96%
X 224%
X 312%
X4 72%

Question ID : 9864492827
Status : Answered
Chosen Option : 3

Q.48 7% W wwayEs AR F AR Tu wt F e A & 78 P @ e

Ans

fafka & &

CLH
TEATES JHANA Flefetel FTUT §

FeTHTE:
1. A FLA AN FT del AFd & Faeed & v sivEns
2. A WESE T O T Al & wEeed & o o silaens g

Consider the argument and decide which of the given assumptions is/are implicit.

Argument:
Public smoking is an offence under the law.

Assumption:
1. Smoking is injurious to the health of the person who smoke.
2. Smoke is injurious even to others health in the public places.

x1_13ﬁ12a‘m‘ri?r1%?r%“

Both 1 and 2 are implicit

A 2 R

Neither 1 nor 2 is implicit

v shaol 3JAT 2 e g
Only assumption 2 is implicit
haol HJAT 1 Afgag &

X 4 2

Only assumption 1 is implicit

Question ID : 9864493694
Status : Answered
Chosen Option : 4

Q.49 fear T I AW 34 oI H AT § S SiEeT awe aer g {1 55

Ans

HFER, TN Y AT Fiel Webot AT TE S For TEA;T 2l

Engiish ‘&%B inci

Tamil

English - 3@ Hindi - & Tamil - arf@er

The given Venn diagram represents the students who can speak different langnages.
According to it, the total number of students who can speak exactly two languages is

English '&%3 nch

Tamil
KX1L+M+0O+N
AX2N+ L

Question ID : 9864494085
Status : Answered
Chosen Option : 1




X3L+0
viL+M+0
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O gegaTy FIET JEHR 2017 fHE Sar 82
‘Who won the 2017 Hridaynath Mangeshkar Award?

Ans
X1 HTM e
Asha Bhosle
ITIH @I
X2 2
Anupam Kher

icy AT
Shabana Azmi

v 2 e FET

Javed Akhtar

x

Question ID : 9864492221
Status : Answered
Chosen Option : 1

Q.51 4.0 heieme el ook Tvq oo foufey & & | foer aer & 8 X, 7% 5
#reT 9fy A= Fr 7T o7 F | 99 @ B o w gr |

A body of 4.0 kg is lying at rest. Under the action of a constant force, it gains a speed of 5
m/s. The work done by the force will be

Ans 30 E“E'

307
50 Sel
Y

5071
40 St
oy

4071

20 ST
xae °
207

Question ID : 9864493302
Status : Not Answered
Chosen Option : --

Q52 ges Oty & TeT AT S T ERT TRE HRUT 9T § -

The girth of the stem or root in plants increases due to:
Ane X, T AREECH
Exftra meristem
2 Uil ARTEH
Apical meristem
7 et ARTEH
Lateral meristem

?{'4.E

Intercalary meristem

Question ID : 9864493295
Status : Answered
Chosen Option : 2

Q.53 f5E ToT FER o T 7% TAST arar & AT AT FgdE & as IREs
AT 27

Which state government has made yoga guru Ramdev Baba as the brand ambassador of
Yoga and Ayurveda?

Ans . mﬁﬂ

Himachal Pradesh

Question ID : 9864492415
Status : Answered
Chosen Option : 3




) ST E=ATT
Rajasthan

x 5 3T e T

Uttar Pradesh

giamom

Haryana

x

v
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Q.54 zZreT FEE wEd [WEER R 8T # Agcaut aestee suaAtey & R g
Eic e

The Dadasaheb Phalke Award is awarded for significant public achievement in which
field?

Ans 25!'[1%?{!'
F !
Literature
Ther
Films
T
' Sports
X 4 TSIl
Journalism

v 2

K3

Question ID : 9864492334
Status : Answered
Chosen Option :1

Q.55 sfeem & 3ifdmaw % FROT WIFfaeh HIEIHT H1 WHAT FET T &
Odisha often faces natural disasters due to .

Ans
X1 T
rainfall
T
K2 ©
earthquakes
ehdld

' cyclones
;T
drizzle

Vs

Question ID : 9864492096
Status : Answered
Chosen Option :2

Q.56 ‘Fe gor w1 TS AT W S 39T &7 §, S F w1 g
F &
‘Madhya Pradesh’ is related to ‘Diamond’ in the same way as ‘Karnataka’ is related to

Ans RIE=1}
R
Copper
<2 AT
Platinum
X3 e
Silver

=T
Gold

v

Question ID : 9864494114
Status : Answered
Chosen Option : 3

Q.57

Question ID : 9864493840
Status : Answered
Chosen Option :2
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fofafaa st & @ Sl o
P, Q, R, S 3k T & ga@ =7 T forgamr &2

HYeT:

1L QFTTAP IS TFAE TN S AT T T G &
2R SSH QA IRm Eaa TEwA T

Consider the given question and decide which of the following statements is sufficient to
answer the question.

Who among P, Q, R, S and T is lightest in weight?

Statements:

1. Q weight <P and S also S weight > T
2. Rweight>Qbut<T

a1 FuA 1 AT a1 FYF 2 g3 ¢

r 0
Neither statement 1 nor 2 is sufficient
X2
FaT FUT 2 JAT g ek hdel HUA 1 HATT &
Statement 2 alone is sufficient while statement 1 alone is insufficient
5 3
Faer FUT 1 TITT § T FIT FUF 2 HIATT g

Statement 1 alone is sufficient while statement 2 alone is insufficient
v P 3T e 2 S AT §

Both statement 1 and 2 are sufficient

Q.58 Grafaf@a F & Fi7 9eT U7 & v OvE Fas F FE T 57

Ans

Question ID : 9864493337
Status : Answered

JIHA S (Zygote) Chosen Option : 3

Which of the following serves as a nutritive tissue for the growing embryo?

X1
Zygote

TUSIEIH

| Endosperm
, 3BRE
Ovary
drE
Ovule

W2

x

X 4

Q.59

Ans

ol felsr # WAFIUT S ATl 31 ST FAM: 3 em 3R 4 em =T F 3W
Frrer & aftga &1 srawer a/r gem?

The two sides holding the right-angle in a right-angled triangle are 3 cm and 4 em long. .
The area of its circumcircle will be: Chosen Option : --

Question ID : 9864492754
Status : Not Answered

2
X1 5mcm
51 cm?
X 2 6.75T cm?
6.75T cm?

71 cm?

71 cm?
6.251 cm?

6.25T cm?

Q.60
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Status : Answered
Chosen Option : 3

A F I VA L

1 2 3 4 5
Select the odd figure out of the following figure series.

A F 1 Z L

1 2 3 4 5

Ans x12
X 21
X34
V5

Q.61 ereit &
@ # QY A FET FNOT F6OAR qWA F Question ID : 9864493629

The main cause of rancidity in foods is the of fats and oils. Status : Answered

Ans W Chosen Option : 1
v

oxidation
~ 2

reduction

HECIE IR

| hydrolysis
x ,, e

clarification

K3

Q62 _261+(—380)—(—521)+821—(—121) F AT &: Question ID : 9864493884
The value of —261+(—380)—(—521)+821—(—121) is: Status : Not Answered

Chosen Option : --
Ans 1. 800
< 2.825
#3833
v 4 822

Q8 Grafaf@a & & =7 @ gpia 7 = ke 7@ gar 87 Question ID : 9864493519

Which of the following never occurs singly in nature? Status : Answered
Ans S Chosen Option : 2

X
Inertia

V> ol
Force

T
Velocity

x o, T

Momentum

K3
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Q.64 wur 3y 7AW v W e TR w # 18 e # weed W # g
U@ W Y F AR AT § AR e e 9@ e i oIE & 8
STH aTE NOT FA H A T HAT gl 5 TR Ewl Hew w # 40
o & 9o &t o §1 afy Fgw wner & s S § F ST o A ener

Question ID : 9864492809
Status : Answered

Chosen Option : 3

Ferer fbaet foall & 97 FF &7 wAT HLAT?

Sharan and Mayukh, working together, can complete a task in 18 days. However, Mayukh
works alone and leaves after completing one-third of the task. Then, Sharan takes over and
completes the remaining work by himself. As a result, the duo could complete the task in
40 days. How many days would Sharan alone have taken to do the job if Mayukh had
worked faster than Sharan?

Ans 1. 3()
V2 45
<324
X 472

Q.65 s dTei 218 T &I AT FATST [Segiel [T SRrei ey & Tt T 9rea
ToRaT| 38 2017 & T A HFATA R 12T 81
Name the Indian paralympic high jumper who won gold at the Rio Paralympics. He was

awarded the Padma Shri in 2017.

Ans AT grETEe
o =
Mariyappan Thangavelu

x 5, T #TET
Varun Bhati

x5 g TR
Narender Ranbir
, SE AR

Devendra Jhajharia

x

Question ID : 9864492340
Status : Not Answered

Chosen Option : --

Q.66 TfE g9 =TT (Problem figure) & 21§ T 90T &1 § & ©fF Hr wEr ¥
ofF 1

Problem Figure

@A‘E

Answer Figures
A B C D
Choose the correct mirror image of the problem figure if the mirror if placed to the right of
the figure.
Problem Figure

@AE

A A
Y@A% IR
Ans x1_A

X 2D
Xs3C
v B

Question ID : 9864493856
Status : Answered

Chosen Option : 2




Q.67 apfg foeerer T UTAT] HEAT 368, ar %\%ﬁ%% alertln Question ID :

9864493293
Not Answered

If the atomic number of Krypton is 36, then its electronic configuration is: Status :
Ans x 1.2.18.16 Chosen Option :
* E
~< 2.2.18.8.8

V328,188
< 4.2.8.20.6

Q.68 foofw HifSe & = 71 s Ry 710 Fum F7 FH07 e = §

Question ID :

Status :
FUA:

mgﬂ - 'ﬂsnfrmﬁ%"lxﬁa?%l Chosen Option :

9864493800
Answered
2

s
1. X TS | omEr FHET
2. X Tl & T 6T et

Decide which of the conclusions logically follow(s) from the information given in the
statement.

Statements:
Politicians marry only beautiful girls. X is beautiful.

Conclusions:

1. X will marry a politician
2. X won’t marry a politician

Ans - Faer sy 1 3TTEIOT FAT §
1.

Only conclusion 1 follows
T 1A 2 HFEOT HIA §

v
Either 1 or 2 follows

A T 2 3eTERoT T 8

| Only conclusion 2 follows

1 3R 2 2 sregeer w #
Both 1 and 2 follow

x

x

Q.69 forelr oY 3 #, v faest aw O # d9N & T &, 9l
freawes =ieg 02 F off E ¥ 50 &R F eawa W AR ¥ W T

T 2T, faest At FreSwe v Ay = e o AT afde 79 @ Status :
fre=ms &t At ea ) dar & BET == F e $o Geer ae) et Chosen Option :

Question ID :

9864492869
Answered
1

#H (eEm?

In a computer game, a builder can build a wall in ten hours while a destroyer can demolish
such a wall completely in fourteen hours. Both, the builder and the destroyer were initially
set to work together on level ground. But after 7 hours the destroyer was taken out. What
was the total time (in hours) taken to build the wall?

Ans X1 35
X224
X317
v 15

QO & o5 et & @ Fopw &1 2 SiEd W1 w9 S @2 Question ID :

Status :
Chosen Option :

Which of the fractions given below, when added to §= gives 1?

9864492962
Not Answered

Ans . 5
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Q.71 s X, ‘A" fig & AT 3T HLAT ¢ TR Hr AR 80 FreliHey Ferar §
arg AR 73 A 8, WY 50 fheifier woer § #R B fig W 9gT = g1 A
3k B Rigeft & mew Fr wgew ghr feeeh 12

Mr. X starts from point ‘A’ travels 80 km towards west, takes a left turn, travels 50 km
and reaches point ‘B’. What is the shortest distance between points ‘A’ and ‘B’?

Ans x 1. lﬂm
~ 2.10/98
~ 310493
v 4 1089

Question ID : 9864493662
Status : Answered
Chosen Option : 1

Q72 Rrafafaa i & @ Fi & A el gy #§ soaea A6 g
Which of the following gases is not generated in a biogas plant?

Ans «1_(:0
< 2. CO,
X< 3. CH,
X 4 H,S

Question ID : 9864493605
Status : Answered
Chosen Option : 2

OB Rw arw & A, BT B F1 99T F:Y

Question ID : 9864494161
Status : Answered
Chosen Option : 3

Xe X Xeo| | | o X
(@) (b) (e) (d) le)
Select the odd figure out of the given series.
X X Xeo| | |o% X
l:ﬂl_i (b] (c) {d} fe)
Ans x 1. (d}
v 2 (c)
X 3 (b)
X< 4 (a)
Q74zfg e & & A off aifees Rfewar seoe g s Question ID : 9864493638
If is involved, even greater diversity will be generated. Status : Answered
Ans arlg;l-a- ﬁ-'@g;r Chosen Option : 2
r 0
binary fission

X2 g e AT
vegetative propagation
Vs i Ut
sexual reproduction

4_34?»113"13:%3?

asexual reproduction

x
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Question ID : 9864492599
Status : Answered

Chosen Option : 4
27 — [38 — {46 — (15 — 13 — 2)}]

Solve the following:

27 — [38 — {46 — (15 — 13 — 2)}]
Ans x1‘ 30
X 231
'3 35

< 429




